4 PEAKTRONICS

MOUNTING KIT

for
Topworx Switchpak™

MKT-126

Actuator Controls Mounting Kit

KIT CONTENTS

QTY DESCRIPTION

switch box bracket

#6-32 x 1.75" hex head screw

#4-40 x 0.5" pan head screw

#6 split ring lockwasher

#4-40 keps hex nut

1.375" round spacer (0.25" O.D.)
potentiometer gear

output shaft gear

0.25" cable clamp w/#6 mounting hole

— e e e e e e e

Switchpak™ is a trademark of Topworx.

www.peaktronics.com

PEAKTRONICS, Inc. 1363 Anderson Clawson, MI 48017  Phone (248) 542-5640  sales@peaktronics.com

800-127A




